O RE#H



/AN S 1 I/ NS | VN WoE M R RO X
201848 (P se) A%
K ) FAATARE U il B () v =) 7 F A A YR B (") v = 7 F I A
4 LA 0401 0402
TEHAA (M — &) TRIUK A2 2 ) 9] 1 33-501-51 2JE ST VIR 1 33-501-52 2P
AR RS SN RS Bt OREIGEBYIREIC L D) fir] (L RS < 0 B B OREGEIREIC L D) fi] (L R e < 0 B
HIEEH (HAAL) T T/ IMiE TR m,/ n x/y R AE 7T5%ME | k/n TE) T/ Vi R m,/ n x/y R AE 7T5%M | k/n
H &/ | H IR H IR | AR
pH 8.1 7.3 9.4 x| 6/18 3/12 8.1 8.5 18/18 8.6 * 7.4 . 9/18 7/12 8.9 * 9.1 x| 18/18
DO (mg/1) 9.9 6.6 14 0/18 0/12 11 11 18/18 11 7.0 18 0/18 0/12 11 12 18/18
BOD (mg/1)
* COD (mg/1) 6.9 * 3.8 10 | 17/18 12/12 7.1 * 7.3 *| 18/18 8.8 * 6.5 11 18/18 12/12 8.9 * 9.6 | 18/18
5.2 * 9.0 * 6.7 * 10 *
1 SS (mg/1) 14 8 31 x| 9/18 1/12 14 17 *| 18/18 27 * 11 45 16/18 10/12 27 * 33 | 18/18
KIGHREE (MPN/100m1)
B | n-n~bvmit e (mg/1)
PEEFR (mg/1) 1.2 %| 0.79 1.7 x| 8/12 8/12 1.2 x| 1.2 x| 12/12 1.4 %| 0.99 2.2 10/12 10/12 1.4 x| 1.4 x| 12/12
bl NG (mg/1) 0.16 x| 0.10 0.25 %[ 10/12 10/12 0.14 *| 0.16 =| 12/12 0.23 x| 0.13 0. 36 12/12 12/12 0.21 x| 0.29 x| 12/12
otk (mg/1)
|/ =T ) —v (mg/1)
LAS (mg/1)
A |ERDO (mg/1)
HRIT L (mg/1)
BTV (mg/1)
#h (mg/1)
YFA=FN (mg/1)
b (mg/1)
KR (mg/1)
TV ILIKER (mg/1)
PCB (mg/1)
e Traa ARy (mg/1)
DAl AR 35 (mg/1)
1,2~V Junzhy (mg/1)
1, 1= Jmnzfly (mg/1)
Vi-1, 2= Junzfly (mg/1)
e 1,1, 1-p)Jmuzhy (mg/1)
1,1, 2-MNJmezhy (mg/1)
rYZopz=FLr (mg/1)
FhIrsmmTFLL (mg/1)
IH |1, 3~V Jun7 A"y (mg/1)
FUT A (mg/1)
a4 (mg/1)
FARTINT (mg/1)
A 2 (mg/1)
L (mg/1)
EES (mg/1)
5o (mg/1)
i 23 M ONTRY A 28 55 (mg/1) 0. 50 0. 08 0. 69 0/12 0/12 0. 56 0. 63 12/12 0. 50 0.13 1.0 0/12 0/12 0. 56 0.61 12/12
1,4- VA FH (mg/1)
7 x /) —VH (mg/1)
k0] (mg/1)
HEH (mg/1)
B\ (o) (mg/1)
B\ Ay (AR (mg/1)
H |7 oan (mg/1)
) Bf&/IME. BREZK{EIZBOD. CODDH 1/4




24 ok MoKk B OE R OR RO X

20 18RS (L) BEE
K ) FAATARE U il B (M v =) 7 F A A YR B (M v =) 7 F I A
4 LA 0401 0402
TEHAA (M — &) BREUKE A 2 W) 113] 11 33-501-51 2JE IR C 33-501-52 EST]
AT R R ] B OKEHEN IR X D) fie] | L R RS < 0 R BT OKEIGEIEEIC L D) fie] (L B e S < 0 W
HETEH (HLAL) TE T/ iE TR m,/ n x/y TRIE [ 75% ] k./n TE) T/ Vi R m,/ n x/y TRIE [ 75% ] k./n

H R/ | HERR H IR | AR
(mg/1) | 0.11 <0. 02 0. 20 /12 =712 0.12 0. 15 11/12 0. 05 <0. 02 0.17 /12 =/12 0.03 0. 06 8/12
(mg/1) | 0.03 0.01 0. 04 -/12 -/12 0. 03 0. 03 12/12 0.03 0. 02 0. 05 -/12 -/12 0.02 0.03 12/12
(mg/1) | 0.48 0.07 0. 66 -/12 -/12 0.53 0.61 12/12 0. 48 0. 10 1.0 -/12 -/12 0.53 0.58 12/12
AHgREEE R (mg/1)
Ty omEy (mg/1) | 0.07 0. 02 0.18 -/12 -/12 0. 05 0.07 12/12 0. 09 0.01 0.25 -/12 -/12 0. 05 0.13 12/12
BRUREE (uS/cm)
DD O fafE (%)
e A A (mg/1)
il | (%o)
sun4iba (ug/l) |2.8E+01 [6.5E+00 |7.8E+01 -/12 -/12 1. 7E+01 | 4. 5E+01 12/12 6.5E+01 |1.3E+01  |1.6E+02 -/12 -/12 6.3E+01 |8.3E+01 12/12
| AR (mg/1)
oy
A | PUm A2 e (mg/1)
EPN (mg/1)
TroFEY (mg/1)
= (mg/1)
VA=E=F: V2N (mg/1)
vA-1, 2=V Janzfly (mg/1)
1,2-Y7uuarsaRy (mg/1)
| S8 =R= S (mg/1)
AV XHFA (mg/1)
BTV (mg/1)
% |7 == b F 4 MEP) (mg/1)
AV TaFET (mg/1)
A% v i () (mg/1)
7 va 4 a = (TPN) (mg/1)
[ A== (mg/1)
22 1 LR (DDVP) (mg/1)
7 = ) 7 H VT (BPMC) (mg/1)
A TRk A (1BP) (mg/1)
g |7 Ev= bR T =) (mg/1)
2= (mg/1)
E A (mg/1)
THVERY” TFaF Yy (mg/1)
|EVTTF (mg/1)
o ke = 1% ) ~v— (mg/1)
EA=2=2=0 2 (mg/1)
e H (mg/1)
A (mg/1)
AHl7=/—1 (mg/1)
RVLET AT R (mg/1)
4 t-F I FNT = ) —)L (mg/1)
FT=U (mg/1)
2,4-Y /a7 x ) —) (mg/1)
ERPNUTES (MPN/100m1)
T | FHW (m) | 0.9 0.6 1.4 -/12 -/12 0.8 1.0 12/12 0.6 0.4 0.7 -/12 -/12 0.7 0.7 12/12
E
5
e
T
H
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24 ok MoKk B OE R OR RO X

20184 (PALIR) Az
K ) AR U il B (") vV =) 7 F A A YR B (") vV ©) 7 F I A
14 LA 0403 0404
HE A4 (SR ) PR E T 33-501-01 JE il 33-501-02 ]
LEREET i Sy MR L F e Bt OREIGEBYIREIC L D) fie] L SR AE RS < v T Beah OREGEBI LRI X D) fi] | LR e < 0 A
HIEEH (HAAL) T T/ IMiE TR m,/ n x /"y TRIE [ 75% ] k./n TE) T/ Vi R m,/ n x/y TRIE [ 75% ] k./n

H R/ | HERR Hi&/h | A&
pH 86 *| 7.5 9.4  *| 11/18 7712 8.8 *| 9.1 = 18/18 87 *| 7.6 9.6 x| 14/18 9/12 8.7 x| 9.1 | 18/18
DO (mg/1) 11 6.8 14 0/18 0/12 12 12 18/18 11 7.6 16 0/18 0/12 12 13 18/18
BOD (mg/1)
“lcop (mg/1) 8.0 x| 5.8 x| 10 x| 18/18 12/12 8.1 *| 88 x| 18/18 7.7 x| 5.8 x| 9.5 x| 18/18 12/12 7.9 x| 84 x| 18/18
5.8 * 10 * 5.8 * 9.5 *
Hlss (mg/1) 17 % 8 31 x| 13/18 7/12 17 x| 20 x| 18/18 14 7 28 x| 7/18 3/12 14 15 18/18
KIGHREE (MPN/100m1)

B | n-n~bvmit e (mg/1)

EEHR (mg/1) 1.2 x| 0.91 1.9 x| 10/12 10/12 1.2 x| 1.3 x| 12/12 1.1 %] 0.94 1.4 x| 8/12 8/12 L1 x| 1.2 x| 12/12

B | @y (mg/1) | 0.17 | 0.093 0.32 x| 10/12 10/12 0.13 %[ 0.23 x| 12/12 0.15 *| 0.078 0.30 *| 8/12 8/12 0.12  *| 0.21 x| 12/12

i (mg/1) | 0.007 0. 005 0.010 -/4 -/4 0. 006 0. 006 4/4 0. 007 0. 005 0. 009 -/4 -/4 0. 007 0. 008 4/4

W/ =7 )= (mg/1) [<0.00006 [<0.00006 [<0.00006 -/4 -/4 <0. 00006  [<0. 00006 0/4

LAS (mg/1) | 0.0035 0.0012 0. 0066 -/4 -/4 0. 0031 0. 0046 4/4
B |EEDO (mg/1) 11 6.6 14 -/18 -/12 12 12 18/18 5.4 1.2 11 -/18 -/12 5.2 7.4 18/18
BRI (mg/1) |<0.0003 [<0.0003 |<0.0003 0/1 0/1 <0.0003 | <0. 0003 0/1 <0.0003 |<0.0003 [<0.0003 0/1 0/1 <0.0003 | <0. 0003 0/1
LTV (mg/1) ND ND ND 0/1 0/1 ND ND 0/1 ND ND ND 0/1 0/1 ND ND 0/1
& (mg/1) | <0.005 <0. 005 <0. 005 0/1 0/1 <0. 005 <0. 005 0/1 <0. 005 <0. 005 <0. 005 0/1 0/1 <0. 005 <0. 005 0/1
PN PA=FN (mg/1) | <0.02 <€0. 02 <€0. 02 0/1 0/1 <€0. 02 <€0. 02 0/1 <0. 02 <0. 02 <0. 02 0/1 0/1 <0. 02 <0. 02 0/1
v (mg/1) | <0.005 <0. 005 <0. 005 0/1 0/1 <0. 005 <0. 005 0/1 <0. 005 <0. 005 <0. 005 0/1 0/1 <0. 005 <0. 005 0/1
TSR (mg/1) [<0.0005 [<0.0005 |<0.0005 0/1 0/1 <€0.0005  [<0.0005 0/1 <€0.0005 [<0.0005 [<0.0005 0/1 0/1 <€0.0005 | <0.0005 0/1
TV VKR (mg/1) ND ND ND 0/1 0/1 ND ND 0/1 ND ND ND 0/1 0/1 ND ND 0/1
PCB (mg/1) ND ND ND 0/1 0/1 ND ND 0/1 ND ND ND 0/1 0/1 ND ND 0/1
| Y7 ERALY (mg/1) | <0.002 <0. 002 <0. 002 0/1 0/1 <0. 002 <0. 002 0/1 <0. 002 <0. 002 <0. 002 0/1 0/1 <0. 002 <0. 002 0/1
BN ArES (mg/1) [<0.0002 [<0.0002 |<0.0002 0/1 0/1 <€0.0002 [ <0.0002 0/1 <€0.0002 [<0.0002  [<0.0002 0/1 0/1 <€0.0002 | <0.0002 0/1
1,2~V Jenzhy (mg/1) [<0.0004 [<0.0004 |<0.0004 0/1 0/1 <€0.0004  [<0.0004 0/1 <€0.0004 [<0.0004 [<0.0004 0/1 0/1 <€0.0004 | <0.0004 0/1
1,1-¥" Junzfly (mg/1) | <0.002 <0. 002 <0. 002 0/1 0/1 <0. 002 <0. 002 0/1 <0. 002 <0. 002 <0. 002 0/1 0/1 <0. 002 <0. 002 0/1
yA-1, 2=V Janby (mg/1) | <0.004 <0. 004 <0. 004 0/1 0/1 <0. 004 <0. 004 0/1 <0. 004 <0. 004 <0. 004 0/1 0/1 <0. 004 <0. 004 0/1
BE (1,1, 1-1)ymnzpy (mg/1) [<0.0005 [<0.0005 |<0.0005 0/1 0/1 <€0.0005  [<0.0005 0/1 <€0.0005 [<0.0005  |<0.0005 0/1 0/1 <€0.0005 | <0.0005 0/1
1,1, 2-M)unzpy (mg/1) [<0.0006 [<0.0006 |<0.0006 0/1 0/1 <€0.0006 | <0.0006 0/1 <€0.0006 |<0.0006 |<0.0006 0/1 0/1 <€0.0006 | <0.0006 0/1
INUA=E=EL 3% (mg/1) | <0.001 <0. 001 <0. 001 0/1 0/1 <0. 001 <0. 001 0/1 <0. 001 <0. 001 <0. 001 0/1 0/1 <0. 001 <0. 001 0/1
FhIrsmmTFLL (mg/1) [<0.0005 [<0.0005 |<0.0005 0/1 0/1 <€0.0005  [<0.0005 0/1 <€0.0005 [<0.0005  |<0.0005 0/1 0/1 <€0.0005 | <0.0005 0/1
I |1,3-V s na"y (mg/1) [<0.0002 [<0.0002 |<0.0002 0/1 0/1 <€0.0002  [<0.0002 0/1 €0.0002 [<0.0002  [<0.0002 0/1 0/1 <€0.0002 | <0.0002 0/1
FT A (mg/1) [<0.0006 [<0.0006 |<0.0006 0/1 0/1 <€0.0006 | <0.0006 0/1 <0.0006 |<0.0006 |<0.0006 0/1 0/1 <€0.0006 | <0.0006 0/1
e (mg/1) [<0.0003 [<0.0003 |<0.0003 0/1 0/1 <€0.0003  [<0.0003 0/1 <€0.0003 [<0.0003  [<0.0003 0/1 0/1 <€0.0003 |<0.0003 0/1
FAR I T (mg/1) | <0.002 <0. 002 <0. 002 0/1 0/1 <0. 002 <0. 002 0/1 <0. 002 <0. 002 <0. 002 0/1 0/1 <0. 002 <0. 002 0/1
g [ (mg/1) | <0.001 <0. 001 <0. 001 0/1 0/1 <0. 001 <0. 001 0/1 <0. 001 <0. 001 <0. 001 0/1 0/1 <0. 001 <0. 001 0/1
(mg/1) | <0.002 <0. 002 <0. 002 0/1 0/1 <0. 002 <0. 002 0/1 <0. 002 <0. 002 <0. 002 0/1 0/1 <0. 002 <0. 002 0/1
(mg/1) | 0.06 0. 06 0. 06 0/1 0/1 0. 06 0. 06 1/1 0.08 0.08 0.08 0/1 0/1 0.08 0. 08 1/1
(mg/1) | 0.13 0.13 0.13 0/1 0/1 0.13 0.13 1/1 0.12 0.12 0.12 0/1 0/1 0.12 0.12 1/1
R OV f eV %8 (mg/1) | 0.48 0.13 0.78 0/12 0/12 0.53 0. 57 12/12 0.45 0. 06 0.74 0/12 0/12 0.50 0. 60 12/12
1,4-VF %4 (mg/1) | <0.005 <0. 005 <0. 005 0/2 0/2 <0. 005 <0. 005 0/2 <0. 005 <0. 005 <0. 005 0/2 0/2 <€0. 005 <€0. 005 0/2
7= /) =V (mg/1)
kol (mg/1) | <0.01 <€0.01 <0. 01 -/2 -/2 <0. 01 <0. 01 0/2 <0. 01 <0. 01 <0. 01 -/2 -/2 <0.01 <0.01 0/2
Hg (mg/1) | 0.007 0. 005 0.010 -/4 -/4 0. 006 0. 006 4/4 0. 007 0. 005 0. 009 -/4 -/4 0. 007 0. 008 4/4

B ok () (mg/1) | 0.03 0.01 0.05 -/2 -/2 0.03 0.05 2/2 0.03 <€0.01 0.05 -/2 -/2 0.03 0.05 1/2

B\~ (VRN (mg/1) | 0.02 €0.01 0.03 -/2 -/2 0.02 0.03 1/2 <€0.01 <€0.01 <€0.01 -/2 -/2 <€0.01 <€0.01 0/2

H | 7w n (mg/1) | <0.03 <€0. 03 <0.03 -/2 -/2 <0.03 <0.03 0/2 <0.03 <0.03 <0.03 -/2 -/2 <0.03 <0.03 0/2

E]
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24 ok MoKk B OE R OR RO X

20 18RS (L) BEE
K ) FAATARE U il B (M v =) 7 F A A YR B (M v =) 7 F I A
14 LA 0403 0404
HE A4 (SR ) BREUKE TN 33-501-01 2JE il 33-501-02 ]
AT R R ] B OKEHEN IR X D) fie] | L R RS < 0 R BT OKEIGEIEEIC L D) fie] (L B e S < 0 W
HETEH (HLAL) TE T/ iE TR m,/ n x/y TRIE [ 75% ] k./n TE) T/ Vi BOKTE m,/ n x/y TRIE [ 75% ] k./n

H R/ | HERR Hi&/h | A&
TUE=TRER (mg/1) | 0.05 <0. 02 0. 26 /12 =712 0. 02 0. 02 7/12 0. 04 <0. 02 0. 22 /12 =/12 <0. 02 0. 02 5/12
TR % (mg/1) | 0.02 0.01 0. 04 -/12 -/12 0. 02 0. 03 12/12 0. 02 0.01 0. 04 -/12 -/12 0.02 0.02 12/12
e AR (mg/1) | 0.45 0.10 0.75 -/12 -/12 0.51 0. 55 12/12 0. 43 0. 05 0.73 -/12 -/12 0. 48 0.58 12/12
AkghESE R (mg/1)
Ty omEy (mg/1) | 0.07 <€0.01 0. 24 -/12 -/12 0. 03 0.07 10/12 0. 06 <0. 01 0. 20 -/12 -/12 0.02 0.07 7/12
BRUREE (uS/cm)
DD O fafE (%)
WAk A A (mg/1)
il | (%o)
sun4iba (ug/l) |4.4E+01 [1.0E+01 |8.1E+01 -/12 -/12 4.3E+01 | 6. 0E+01 12/12 4.4E+01 | 1.2E+01  |8.2E+01 -/12 -/12 4.4E+01 | 5. 2B+01 12/12
TH | AR R (mg/1) 3.0 2.3 3.4 -/4 -/4 3.1 3.3 4/4 3.1 2.6 3.6 -/4 -/4 3.1 3.5 4/4
oy
A | PUm A2 e (mg/1)
EPN (mg/1) |<0.0006 |<0.0006 |<0.0006 0/2 0/2 <0.0006 | <0. 0006 072 <0.0006 [ <0.0006 | <0.0006 0/2 0/2 <0.0006 | <0. 0006 0/2
(mg/1)
(mg/1)
(mg/1)
(mg/1)
D/A=0=0v 4= (mg/1)
| S8 =R= S (mg/1)
AV XHFA (mg/1)
BTV (mg/1)
|7 == haFFr (MEP) (mg/1)
AV TaFET (mg/1)
A% v i () (mg/1)
7 vanr A a=/L(TPN) (mg/1)
[ A== (mg/1)
22 1 LR (DDVP) (mg/1)
7 = ) 7 H VT (BPMC) (mg/1)
A TRk A (1BP) (mg/1)
g |7 Ev= bR T =) (mg/1)
|\ %= (mg/1)
E A (mg/1)
THVEEY 1F Ry (mg/1)
- |EVTTF (mg/1)
ke =1e ) ~— (mg/1)
EA=2=2=0 2 (mg/1)
e H (mg/1)
77 (mg/1)
H|7=x/—1 (mg/1)
FAVLT AT R (mg/1)
Yt-F I FNT = )= (mg/1)
FT=U (mg/1)
2,4-Y /a7 x ) —) (mg/1)
EABRITEES (MPN/100m1)
T | FHW (m) | 0.8 0.5 1.1 -/12 -/12 0.8 0.8 12/12 0.8 0.4 1.1 -/12 -/12 0.8 1.0 12/12
E
5
i
T
H
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